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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1wkl s | 20 | 2| 50| & | 21 | = | 110 4
2 b [rif] INT = -90 it 2C -1 -100
3 R [rif] 3NTXx = -750 2] 2H = 110 13
4 | WA R 3S -1 100 K 3S -1 100
5 ra b [rii] 2NT +1 | -150 R 4H -1 50 5
6 RPY [rif] 4S = -620 R 3NT -1 100 12
7 A 1t 2D -1 -100 it 2D = 90 5
8 | XWk| ™ 6SX -2 -300 R 4ANT -1 50 8
9 R K INT = -90 R INT -1 100 5
10 | X ] 5Cx -3 800 5] 4H +1 650 4
11 | Xk 1k INT -3 -150 it 3NT -1 -50 3
12 | ik it 5D -2 -200 it 3C = 110 7
13 | XWH R 3NT = -600 7R 5D -2 200 13
14 |xxe|l w | 4s | = | 420 | & | 4s | = | 420
15 | ik [rif] 3NT +1 -430 R 3NT +1 -430
16 | &7 [rif] 3NT = -600 [rif] 1H +1 -110 10
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 [ WEl % 1S +1 | ‘110 | & 2NT | -1 -50 2
2 |wwl w | 2s | = | 20| % | 1H | = | 80 1
3 || % | a0 | 2 | 20| & | 3H | = | 1490 ] 2
a sl w | 2s | = | a0 g | 3¢ | = | 110 6
5 |wikl % | 3s | 1| s0 | % | 45 | = | -420| 10
6 | zw| w | 4s | = | 620 w | aNT | -3 | 300 14
7 ||l | 20 | = | 9o | & | aNnT| = | 90
8 |wxrl m | 6sx | 2 | 300 w | ec | = | 920 | 12
o |#wl % | 1s | = | 80 | 4 | aNnT | +1 | 120 5
10 x| 6 | a0 | #1650 | w5 | aH | +1 | 650
11 k] % | 30 | = | 10| & | 2H | +2 | 170 2
12 |kl w | aNT | +2 | 630 | % | 3sx | 3 | 500 | 4
13 || w | ec | -2 | 100 | % | aNT | 41| 630 | 12
14 x| & | 4s | = | 420 | w | aNT | +1 | 430
15 |wit|] & | 1sx | -2 | 200 % | 3NT | = | 400 5
16 | #w| w | aNT | -2 | 200 | w5 | aNT | +2 | -150 | 6
DATUMZE ik
7353 7:3UN BT RA y: ] 51 | 30
XL/ 2218 34 eV 9 &1 51 | 30
N LRI -9 el /1 S0 -34 V.P. 15.19 | 4.81
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 | WK LL PAS i} INT | -1 50 2
2 |kl w5 | 2NT | 2 | 100 | 7§ 2S = | -120] 5
3 i} 53] 4HX -1 -100 * 5Dx -3 800 14
4 | wHEl % 2S = |-120| &t | 2Hx | = | 670 13
5 |mdel v | 3NT | = | -400 | % 4s | -2 | 100 11
6 | %l % | 3NT | = | -600 | 7 3S = | -140 10
7 | wa ] e 2D = 90 1t 2D = 90
8 | MLl % 4D | +1 | -150 | % 5Dx | = | -550 9
9 | %l % | AINT | -2 | 100 | % 1S = -80 5
10 | X 2] 4H = 620 16 4H +1 650 1
11 | Xk 1k 3NT -5 -250 16 INT +1 120 9
12 | gkt 3¢ | -1 | -100| # | 3NT | +1 | 630 12
13 | WHL A 3NT | +1 | -630 i} 6C -1 100 12
14 | x5l ™ 4S -2 | -100 7] 4S = 420 11
15 | ik [rit] 3NT = -400 53] 2S -1 -100 7
16 | %p5] 5 | ANT | +3 | -180 ] | 3NT | = | -600 | 9
DATUMZE ik
(TSP EEION BB\ Ay 28 | 102
PH/EE -35 Rt 580 53 A 28 | 102
Wi/ R T -53 S e YRR 2 35 V.P. 20
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 |sxe| B | 20 | = | 120 4 | 1H | = | 80 1
2 |kl 2s | 2 | 100 | W | AINT | -1 | 50 2
3 | %) 4 | 2H | +1 | 140 | §§ | 3NT | -1 | 100 | 1
a |wgl w | ab | 2 | 200 4 | 1H | +1 | 110 7
5 | mib| = 4S = | 420 | % 3s = | -140 7
6 | %#mw| w | 4s | -1 | 100 | % 4s | = | 620 | 12
7 |ws] & | ANT | = | 90 it | 2p | -1 | -100| 5
8 | x| % 6C | = | 920] w | ecx | = |-1000| 5
9 | %#mw| % | ANT | -2 | 1200 | % | ANT | -1 | 100
10 |ws| 4 | 45 | = | 620 | % | 4H | +1 | 650 1
112 || 4 | aNT | -3 | -150 | 4 | 3NT | -2 | -100 2
12 | gkl ® | 3NT | -1 | -100 ] % | 3NT | = | 600 12
13 | WHL W 5Cx | +1 | -950 | % 3NT | = | -600 8
14 || w | 4s | 2 | -100] ® | 3NT | = | 400 11
15 | gdt|l % | aNT | +1 | -430 | % | 3NT | +1 | -430
16 | #p| J& |ANTx| -3 | -500 | #§ | INT | +2 | -150 8
DATUMZE Tt TR
TYEFILRA =i\ P ] 26 | 56
T A -42 I EIES -10 G 26 | 56
o/ EEE 10 SRR T 42 V.P. 3.27 | 16.73




